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Quiz 04: Chapter 03	 Spring 2008

Answer each of the questions below, showing your 
work. Each question is worth 4 points.  Work on the 
front and back of this page, attaching additional sheets 
if necessary.

1. Problem 3.4
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2. Problem 3.8
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3. Problem 3.16
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I =
P
A

=
P
4πr2

=
Eo
2

2cµo

Eo
2 =
2cµoP
4πr2

Eo =
2 3×108 ms( ) 4π ×10−7 T ⋅mA( ) 3.9 ×1026W( )

4π 1.5 ×1011m( )2

Eo =1.02 ×103 Vm

4. Problem 3.22: answer in the back of the book (p 660)

5. Problem 3.24: answer in the back of the book (p 660)

6. Problem 3.31: answer in the back of the book (p 660)


